4 [HSEFERFERR
(1) —BRFt
(B4 E5HH)
% A % H
B H FHIFLE (A IRAFEE B)| (B)/(A) (%) |HERLE (%) ¥ B FHIAEE (C)| X HiF%EE (D)| (D)/(C) (%) R (%)
1 e 6,364 6,393 100.5 29.4 13 = = 202 199 98.5 1.0
2 K E 5 i 210 208 99.0 1.0 2 # % & 2,616 2,368 90.5 11.3
3F F A X T £ 2 2 100.0 0.1 3 R 4 = 7,294 7,008 96.1 334
4/ & B X F £ 26 29 1115 0.1 4 4 = 3,082 2,940 95.4 14.0
5 MAERENBIXME 21 32 152.4 0.1 5SEMKEXE 827 789 95.4 3.8
6EAEBTERIMTE 107 112 104.7 0.5 6 7 T & 374 343 91.7 1.6
THAEHERIMTE 1,010 1,014 100.4 47 7 PN & 2,381 1,845 715 8.8
81 NIBMARMK T £ 1 2 200.0 0.0 8 iH 7] =1 940 907 96.5 43
OB BE MR E X MNR 19 21 110.5 0.1 9 % B = 2,040 1,770 86.8 8.4
10# 5 % #l X F & 35 37 105.7 02| |10 & % IH & 400 259 64.8 1.2
nmi A x #F B 3,655 3,703 101.3 170 |11 & &® =1 2,306 2,304 99.9 11.0
12 RBERENRHFINX T2 3 3 100.0 00| |123 X H £ 274 246 89.8 1.2
BHRrELRVEESR 21 20 95.2 01| |13 % i & 19 0 0.0 0.0
4 E AR FHH 278 266 95.7 1.2
15 E X H £ 4,055 3,723 91.8 171
16 & * s & 1,281 1,306 102.0 6.0
17 Bf I3 IR A 35 35 100.0 0.2
18 & B & 189 175 92.6 0.8
19 #& A & 1,102 1,046 94.9 48
20 #& 4 id 1,158 1,158 100.0 5.3
21 § Iz A 667 660 99.0 30
22 & 2,516 1,808 71.9 8.3
m A& &t 22,755 21,754 95.6 100.0 A = 22,755 20,978 92.2 100.0
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(2) mHROAR (3) —MEEFHEERIREWK T (BER)
(B ®AM) (BEhr-BAH)
F B FEIFHEN REHE |WARe/w®| BEE® g B F B ROBH g ¥ O Ot &
1 B ) 2,428 2,436 100.3 38.1 1T A =3 - 2,944 14.0
- 3,220 3,235 100.5 50.6 2 Y a3 & 2,504 1.9
3B B B #H M 148 149 100.7 2.3 I - 203 1.0
4 = 1IF B 379 380 100.3 6.0 4 % Bh & 4,524 21.6
5 A 5 ) 19 20 105.3 0.3 5% B B % 3,003 14.3
6 # ™ F B 170 173 101.8 2.7 6% & M & B 2,894 13.8
&it (1~6) 6,364 6,393 100.5 100.0 M EBRNEXE 2,623 125
X BERBERRKRER 660 686 103.9 100.0 @ # B 1,077 5.1
Q@ B ¥ 1,513 7.2
O mHENEIBER VMK HEE (B FH) @%F n i 33 0.2
FR1AZYOTTFEIEEE 163 (2) KEEIBEXE 271 1.3
—fE Ly OB & 375 7 2 & = 2,304 11.0
FER1AZYDM B %R 536 8 & ir & 246 1.2
— LY DX HEE 1,230 9 H & & 271 1.3
(X £EIZ. SFEI10B1BRAEDEEIAO - HEKTE-1-10) 10 & 1 & 307 1.4
11 #2 H & 1,778 8.5
O EREBERABRHFOBIEERUVZ L (B FH) & =t 20,978 1000
HWREZFIALSYDOERTTEIEE 83
—iHFELHYVDERAEEE 120
WIRRE 1 ALY DR HEE 519 (4) HFH&FE
% B BA
—HEIYOXHE 748 = i 4 FHBENA) |BARLE®R)| HHRELEC) lbzlka‘é(B)/(i\;ﬁ;nﬁg(c)i\))
(X £EIX. FH6FIANBBRANERBEERESR-EEMA EERERIKRSEE 4,379 4,295 4,274 98.1 97.6
HEHTE-=3D) XK B B OB O 7 8 7 114.3 100.0
+ % R KR = £ 4,544 4,628 4,381 101.8 96.4
(5%E] e R EER 611 608 608 99.5 99.5
HEIEAD 39,130 A, %8 17,050tH 5 (SF6E1081BIRAE) & &t 9,541 9,539 9,270 100.0 97.2
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E % Ky | SRR | mwwe | AR E % K | ol mwws | D AR 8
2 X I & 899 146 3,175 95 4315 ® OX IR O# 817 132 3,162 87 4,198
" i 2 5 w2 351 10 364 467 92| | Wi 2 o g 2 308 10 362 451 1,131
AlE B F % 0 0 0 0 of Bzl @ % 0 0 0 0 0
" Hi 1,250 156 3,539 562 5507| |25 it (a) 1,125 142 3,524 538 5,329
2 X 2 A 1,094 143 3,677 477 5391| | E X & A 1,047 135 3,593 468 5,243
" Xl 2588 49 10 64 47 1700 |7 | EEXENEAR 49 5 175 50 279
i B |/ % 0 0 0 0 of |F g o # % 0 0 0 0 0
Hi 1,143 153 3,741 524 5561 | = &t (b) 1,096 140 3,768 518 5,522

1 * & 267 0 227 191 685

T . 5 . ” ” LEAM R 2% (a) — (b) 29 2 A 244 20 A 193
iR —BRREHHESE 14 0 0 108 122 - B & & &E 11,302 559 5,753 8,633 26,247
| A I =88 & 5 0 0 0 5 E|R OB B E 840 281 1,549 317 2,987
fth & it W B2 0 0 132 0 132| | & g?s % OE B X 0 0 0 0 0
* z 2 it 0 0 3 5 8| |4z & 12,142 840 7,302 8,950 29,234
&t 286 0 362 398 1,046 | & B £ & & 5,793 219 3,224 2,741 11,977
- B E %R E 411 7 276 304 998 |7 B & & 533 50 752 340 1,675
% tEBFEEE SR 439 28 257 245 969 | M ﬁ % OE IR #® 1,207 129 1,641 4,712 7,689
—FfEARFE 0 0 0 0 0 x| & PN & 3,868 496 3,026 1,064 8,454
B2 o 0 0 9 0 9 f% #BoOox 2 741 A 54l A 1,341 93| A 561
&t 850 35 542 549 1,976 i £ 12,142 840 7,302 8,950 29,234




